| Efficiency vs Dxy |

)
X

®)

@ 0.09

>

80.08

I3

50.07
0.06
0.05
0.04
0.03
0.02
0.01

=
(5]

Ratio

0.1

TRV
1

0.95

0.9

—2520151050 510152025

TP dxy (cm)

—=— DQM_TT__mkFit-DQM_original-0

[ Efficiency vs Dz | |—s— DQM_TT__mkFit-DQM_mod-127

efficiency vs dz

Ratio

0.8

0.7

0.6

0.5

0.4

0.3

0.2

0.1

1.0
1
0.95

0.9

....................................................................

....................................................................

....................................................................

--------- B

r 11 1 | 11 1 1 * 11 1 1 I 11 1 1 11 1 1 11 1 |
r : : #| | : :

N 0""" .
REEEEEEEL EEEP R * L R O R Ry PR R PR
F +ITI T H

R S L AR A S P13 R O
L + B

N ¢ :

- “'

930 20 <10 0 10 20 30

TP dz (cm)

—— DQM_TT__mkFit-DQM_mod_updatedmod-127



	Contents
	Page 1


